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Wﬁﬁﬂ:

(i)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

Tyt go7 AT & |
J97 G&IT 1 - 5 T Io9% J97 Ueb 7% & 8 | Yo% J97 & I 20 Vsg] &
37ferew 781 81T F0eT |
J97 G&IT 6 — 10 TF 9% 97 g1 371 &7 & | I3 J97 &1 IR 40 sl &
37ferem 787 81T F05T |

J97 &7 11 — 16 T Icd% Y97 &R 37H] &7 & | Jod% 97 &7 IR 100 I
g 37feres 787 §7 @50 |

J97 G&IT 17 — 21 TF 9% I3 Giel 37h] #7 & | Jdb 97 &7 IH 150 I
g 37fere 787 17 =leT |

o7 g1 21 HAEE W SGIRG Fo7 & | §9% IR TH FR-Jiawr §
ferfera |

I G&IT 22 — 27 % o9b Yo7 T: bl H1 & | Y% J97 &1 IH 150 Fsc]
g 37 787 §l7 =5 |

General Instructions :

)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

59/3

All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.
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ST o i ot o foTe faesma o1 279 STem-3TeT ==t Biar 8 ?

Why does development have different meanings for different sections of

the people ?

®H AT WRA SEI G Sl T3 IiEhed 1 % AR og-gara fawa #i frel ©h
foriyar =1 ISR KIS |

Highlight any one feature of the multi-polar world as visualised by both

Russia and India.

foava & faftm wrn & wfier 3am 61 et aur faty =1 gar 2 2 #1% T
Y@ SR T |
Why does mineral industry invite criticism and resistance in various

parts of the globe ? Give any one major reason.

T TS % st &8 I Aiehad % ol wau = 91 S § 2

Why is violence between two communities considered as a threat to

democracy ?

‘AT STEhT ShieH (3Ueh! gtk ANRIH)’ &1 R U o ?

What was the significance of ‘Operation Iraqi Freedom’ ?

gorTe § T fefa S5t G § e et — AiTiaTel auEiar SaEl deh ahd
@1 ?
How far did the Rajiv Gandhi — Longowal Accord succeed in bringing

normalcy in Punjab ?

Tefrugrn i Aifd YRa & fou o9 fea dreql 6 gfee § 8 g @ 2

In which way did the policy of Non-Alignment serve India’s interests ?

3 P.T.O.



10.
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gfe Teffg T w Fofgt & o7 4 &l 1 I9eht Sfua arfreer & fean Stw, @
T BT 2 2

What will happen if the regions are not given their due share in
decision-making at the national level ?

WY ‘A’ Y fou T Al 1, WY B’ H &) T8 AHR] § Tiefeh Aol shifalg
Ty A’ &y B’

(a)  sfe et (i) 1952 ¥ TR T Tcg ek TG 5 1§

(b) T WIS Alfean (ii) 1975 TMUTaHhIA H folie &1 Wl

(¢) T YIS T (iii) SRl ST TSI

(d) SFTeiEd W (iv) g€ o faeg 3 He Teri & foru foema

axl=2
2

Match the following meaningfully from the names in Column ‘A’ with the
information in Column ‘B’:

Column ‘A’ Column ‘B’

(a)  Indira Gandhi (i) A Member of Parliament from
1952 till his death

(b)  Ram Manohar Lohia (ii))  Symbol of opposition during
emergency of 1975

(c) Jai Prakash Narayan (iii) Nationalisation of banks

(d) Jagjiwan Ram (iv) Best known for his sharp attacks
on Nehru

1940 & ¢ hl I @ USHIder T3l o1 favamu hifsie S grfeream <k
TIAT9ET 6 ol & foru Ioeer of | 2x1=2

Analyse the two political developments of 1940s that led to the decision

for the creation of Pakistan.



11.

12.

13.

14.

15.

16.
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R 3R = o T 1962 % FuY % workawy fhal AR qumHl Rl
Tuiq i | 4x1=4

Describe any four long-term implications of the conflict of 1962 between
India and China.

T STEIAS RIT 8 2 $Hh &I ST ol 3g@ I | 1+3=4

What is Amnesty International ? State its main functions.

JveteRTuT < fohmal TR |TEehiceh qRUTHT 3hi SATEAT ITEL Higd it | dx1=4

Explain any four cultural consequences of globalisation with examples.

1969 € 1977 % GNH, 9Nd § T Yuell § §Y AR qiEal 1 gheo
HIfT | 4

Examine the dramatic changes that took place in the party system in
India during 1969 to 1977.

1947 ® YR o fI9TeH o fohegl = 9ftomdt sl 3SR ShifT | 4x1=4
Highlight any four consequences of the partition of India in 1947.

A § HIUE 9T 1 Tcd, 3T ¥ H Tha-arel 9Ycd | fopd TR fog o 2
T T | 4

What distinguished the dominance of the Congress Party in India from

the one-party dominance in other countries ? Explain.

5 P.T.O.



17. = fou mu #13 w1 eamyds stea hife qen 3ush e fow T gt % 3@
fafem

(i)  Grestes & IR foft & % i gqed s W & foe €2 @ darer
JTel Sk I IE=THT, ql 38R AW faRaT |

(ii) I | TTESIeh & hl IR AT Fohra F1 fg@m T 3 2

(iii) HEWH® &7 W AP 9 foU I o HRU, YRAT efedesen W
ERRIEIEUN 1+2+2=5

59/3 6



Study the cartoon given below carefully and answer the questions that

follow :

1) Identify and name the person who is holding the balancing beam
between the public sector and the private sector.

(ii)) Why has a big tilt towards the public sector been shown in the
cartoon ?

(iii) How did the over-emphasis on public sector adversely affect the

Indian economy ?

59/3 7 P.T.O.



HETITIEa 397 acT giearfaa ahene & g, Jo7 G&q1 17 & €7 W3
The following questions are for the Visually Impaired Candidates only,

in lieu of Question No. 17 :

(17.1)  Ycdch I HH-B-HH Tsh IELN hl TEAAT 9 Hrasi-eh &5 3N fsit

& § 3T Tse hiforu |

(17.2) U @G 1 &AW H Wd g, 3 FhH YhR Hl FAfaaed i

TfHeRdr < 3T =41 2
(17.3) vty 4 forE YehR < 3Tk &1 <kl S@ren feam g ?

242+1=5

(17.1) Distinguish between the public sector and the private sector

with the help of at least one example each.

(17.2) Keeping in mind the Indian context, which type of economy

would you prefer and why ?

(17.3) Globalisation has promoted which type of economic sector ?

freferfiea g 1 eamydes 1eeH hIfT qen 38ek Fi= for o wwat & 3w

fofew

S STl o AT ThEl I8 ool od & 1 8edid,

G IR Ll St ATfEeh SHRATsA | TR o HHBN T G 3T
USAT B | Ik TR 3H HE ! niafaferi & wer ft fFofa-ufsen
I Bt @ A USTH ohl lehdiiSeh sgeeel |1 gidl 8 | 38 @
&l gefiet T 3R T FaTed sl 70 <t & 3T 98 Hardt I8 B foh o
afere e gt gt idfaieE S ge w6 od § 2 g6 eEn @
foh o S TG ST I SRS AT T JHISE SR IW B 3R
35 TR o Teh og THE i 3T A1 SIS H hIHATE] BT hi
2 | B4 I&T 39 91d W &qF ST 18T foh 39 59 eIl gl AHee
& I arell ST TSR 3R e ®9 4 g dquT ARG
Tt B TR W@l R |

(i) 9 g foha Q1 YR ST gER Tfafafem w1 S ohid 8 2

(i)  3TI=eh! gr feU 7T qeht ¥ AT gl deh U8Ad & 2

(iii) 9H STl § AT oH aTel TfehTer T dmTfeis €9 8 Jf=d ag &

i 21d & ?

1+2+2=5



Study the following passage carefully and answer the questions that
follow :

Critics of popular movements often argue that collective
actions like strikes, sit-ins and rallies disrupt the functioning of
the government, delay decision-making and destabilise the
routines of democracy. Such an argument invites a deeper
question: why do these movements resort to such assertive
forms of action ? We have seen that popular movements have
raised legitimate demands of the people and have involved
large scale participation of citizens. It should be noted that the
groups mobilised by these movements are poor, socially and
economically disadvantaged sections of the society from
marginal social groups.

1) Popular movements resort to which two types of assertive
actions ?

(i1))  How far do you agree with the arguments given by the critics ?

(iii) Why are groups involved in popular movements mostly from
marginal social groups ?

19. frAfafad 3guor o1 samgdess steRm Hifse qen 3w fi= fow MU wwat & 3w
fafau
TR T} T < STUEThd SIS SN+ ARl o |19 3T -3T9
S[ed 1 seauta it fga @ fRem | 39 < o T ufagg) om %
Raem® e 1 arrer fier, gfoRm ot shfds meg fieht | &1 <o
319 qSiEl < | B off | HEMIRRAl % e W MeaEd i awAT ¥
T g % T @ de W S @A 91 |/ T | 9% favee ges
uEd U9 H BT | ufet U9 o ferehat Qi A rHdeR 1 g forn
Srerfer gt J09 aifoerd ©® o wmfte &1 e | g|fee 3 wn wfvadt ok
“qd’ TesA off FHEATd & |
(i)  ufvadt qen ol TosEAl ¥ HEg Th-Ush TS 1 AW gy |
(i) BB N HERITHA! & TSsuA! § @l MHA B =18 o 2
(i) ‘e yurell’ fohe YR fava @ fawfsa w0 & fow ww maa
TS 2 1+2+2=5

59/3 9 P.T.O.



20.

59/3

Study the following passage carefully and answer the questions that

follow :

(1)

(ii)

(iii)

The smaller states in the alliances used the link to the
superpowers for their own purposes. They got the promise of
protection, weapons and economic aid against their local rivals,
mostly regional neighbours with whom they had rivalries. The
alliance systems led by the two superpowers, therefore,
threatened to divide the entire world into two camps. This
division happened first in Europe. Most countries of Western
Europe sided with the US and those of Eastern Europe joined
the Soviet camp. That is why, these were also called the
‘western’ and the ‘eastern’ alliances.

Name one organisation each related to the ‘western’ and the
‘eastern’ alliances.

Why were the smaller states interested in joining the super
alliances ?

How did the ‘alliance system’ threaten to divide the world ?

frefafaa 3gror &1 eamyEs st hifse qen 3w = fu T et & 3@
fafaw -

(1)
(ii)

(iii)

Uifered™ H dlehdiEeh IMEA I — 3H&h (AW <hls ©HE
A TH & fHaar | 39 aoig | oft 31 S AT Y HEW
o U sgrar faem 2 | mdient 9o 3= gfvad) 29 34 199-319e
et | TR a7 | uTfeheae B Afeh e Bt Seran e | 39
Sl 3G TdehdIE T S AT & o8 3 ¢ “Tagesardt st arrderare’
FEd & | 31 o2 W Tg Wi = warar & T urfhed™ % waiiaes
BT el 37 SATARATE! THEI o 1Y 7 @ AW | $ J1al o Hewl
qiferEd™ 1 A < gfvam qon <feror uftrn § ufvad) f&qi o1 e
HHd 8 |

“Tervaeardt e} 3TdeRaTg | @R AU B 2
QTSR ol SArehdTieh e o foru 3fua Tauisdta ameds =i =&
fore 2

qrferdr o @fer e i ufvem qen <féor ufyen 9, afved esn o faal

EJRICEIN] w0 THAT ST A1 ?
10

1+2+42=5



21.
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Study the following passage carefully and answer the questions that
follow :

The lack of genuine international support for democratic
rule in Pakistan has further encouraged the military to
continue its dominance. The United States and other Western
countries have encouraged the military’s authoritarian rule in
the past, for their own reasons. Given their fear of the threat of
what they call ‘global Islamic terrorism’ and the apprehension
that Pakistan’s nuclear arsenal might fall into the hands of
these terrorist groups, the military regime in Pakistan has been
seen as the protector of Western interests in West Asia and
South Asia.

1) What is meant by ‘global Islamic terrorism’ ?

(i1) Why did Pakistan lack genuine international support for
democratic rule ?

(iii) Why was the military regime in Pakistan considered as the
protector of Western interests in West Asia and South Asia ?

forga & fou o uorifis AR A d e R @), @), ©, O @ ®

TR < TR R | A & 8 SR shl TEdT ¥ 3% YT e 3 Tal
I, T hI TS THBR hH HH-EEAT qUT rd 18R Afgd, FefeiRaa

qTicTeRT oh ATEAR AT IT-gfeaent | foafem :

TN <] TS SRR
1 HY-G&IT

graf-ad e | 9 kT A

(i)

(i)

(iii)

(iv)

(v)

11

P.T.O.
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(i) 98 3 J&f 1987 ¥ Hifeaet Mehict W geaer fohw M |

(i) 39 U H HeA B 6 T F IcEeq § FH wA hl ygE e
ferenféra a1 2 |

(i) I8 X o GEaH ATGIeHl o o foeama 2 |

(iv) Shepfed 7€l 9T SME-YE & oFi &l g9 & {oU, ggann sreg-fomeh
3G 36 <9 § =l |

(v) Tova =1 gaifus @i 9a 3cutes o | 5x1=5

In the given political outline map of the World, five countries have been
shown as @), @), ©, © and (E). With the help of the information given
below, identify these countries and write their correct names along with
the serial number of the information used and the related alphabet as per
the following format in your answer-book :

Sr. No. of the Alphabet | Name of the
information used concerned country

(1)

(ii)

(iii)

(iv)

v)

1) The county where Montreal Protocol was signed in 1987.

(i1))  This country is of the view that the major responsibility of curbing
gas emissions rests with the developed countries.

(iii)  This country is known for its forest movements.

(iv) The first anti-dam movement aimed to save the Franklin River

and its surrounding forests was launched in this country.

(v)  The largest producer of mineral oil in the world.

12



For question no. 21

I F. 21 % foag

$plIkin} babl
eonod aTdom

P.T.O.

13
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el Jo7 dac gieanaa gaemfdEal & g, J97 & 21 & €& |
3.

Note: The following questions are for the Visually Impaired Candidates only,

22.

23.

59/3

in lieu of Question No. 21 :

(21.1) o 999 ¥ 9 7 Tl g waterefi gei i oo shifu |
(21.2) 1992 1 gU ‘Yol HHHTH % HEE I T HINT |
(21.3) T UIrhial <t gl g famansti &1 3R Hifsr | 1+2+2=5

(21.1) Mention any two environmental concerns that have a long
history.

(21.2) Explain the significance of ‘Earth Summit’ held in 1992.
(21.3) Highlight any two features of the Kyto Protocol.

1975 H TN T AR § STHHG 9 foig o &9 § "fdq niafafr=y =
ISR ST | 3Teht T |, 37 Tfaffei =1 smd W= 99TE ge 2 4+2=6

AT

e s fGisne’ & e 1 favamor Hifvw | 5@ gz 7 sfen it & wma e
YRR hi FHICAT Tqd hi ? 2+4=6

Highlight the acts of dissent and resistance to the Emergency imposed in
1975. In your opinion, how did these acts affect the public opinion ?

OR

Analyse the issue ‘Indira vs the Syndicate’. What type of challenges did
the issue pose before Indira Gandhi ?

1971 ¥ 1990 T STATCY H TThIU o A O TFa(-d HSATShA hl GO
HIST | 6

HAAT

Tsh 9= itk o €9 H 3THIGh] J9i%d 1 JodTehd HiT | 6

14



24.

25.
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Examine the sequence of events related to the formation of governments
in Bangladesh from 1971 to 1990.

OR

Evaluate the American hegemony as a hard power.

M Ig o 9T g¢ W Foheel ©: sl i Seoi@ i fSeaie a3k g i

SEAX ¥ i ohl fGum § gami o1 A sTHard &9 fea 7 | 6x1=6
T

eI G & o A R 2 38 fohe yR Sife wwresmelt s S

Hehell & ? 244=6

Mention any six post-Cold War changes that have necessitated reforms to
make the United Nations work better.

OR

What is meant by cooperative security ? How can this be made more
effective ?

T # fafagar § wehar sAC @A & oW @ & Rl 9 TR 1 9uE

HIfu et 13ft g fomam <t st B ) 3x2=6
arera

1989 % YT WRA o STfUhIR USHIldeh Sl § ol g3 Wenid i fheal oI

&I STl 1 IUH IR | 3x2=6

Describe any three areas of tension which are yet to be solved to retain

unity in diversity in India.
OR

Describe any three elements of growing consensus among most of the
political parties of India after 1989.

15 P.T.O.
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TI-FAAUE 3N e (NIEO) i 9RO 1 =1 ¢4 aTefl g
IR HIFTT | 39 TIE hl HAAR o9 91 foheal @ hRehl <hl ATEAT

HIFTT | 4+2=6
sraT

Aifead g9 & faged 3 fora a9 afienl @ faga voifa =1 gwifaa foram 2 samen

i | 3x2=6

Highlight the circumstances which gave birth to the idea of New
International Economic Order (NIEO). Explain any two factors that
weakened this initiative.

OR

In what three ways did the collapse of the Soviet Union affect the world
politics ? Explain.

FT MY 39 $oF § F8Hd ¢ b w9ad WRA i faqw fifa & wwfaqel fowa =
AT T 7 ? 3794 I o T | Sig diH 3T deh oIty | 3x2=6

AT

“Ur IYTAieRer i kAT T Tk Yed qHE R TE (FEeare) i
Hifq =1 et ot w2 1”7 39 U & 9 H HIS qF IUTH @b QI | 3x2=6

Do you agree with the statement that “the foreign policy of independent

India has pursued the dream of a peaceful world” ? Support your answer
with any three suitable arguments.

OR

Give any three suitable arguments in favour of “India being a staunch
supporter of the decolonisation process and in firm opposition to
racialism”.

16 23,300



